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1. Which institution published the ‘Trade and Development Report 2023°?

a. WEF

b. IMF

¢. NITI Aayog
d. UNCTAD

Answer. d

2. Which High Court has prohibited the use of cellphones inside temples?

a. Madras High Court
b. Delhi High Court

¢. Bombay High Court
d. Calcutta High Court

Answer. a

3. In which state did Chief Justice of India D Y Chandrachud launch the district court digitization hubs (DCDH)?

a. Andhra Pradesh
b. Odisha

c. Uttar Pradesh

d. Madhya Pradesh

Answer. b

4. Which organisation signed an agreement with the Union Ministry of Power to establish early warning systems for vulnerable hydro projects?

a. DRDO
b. ISRO
¢. BHEL
d. HAL

Answer. a

5. Which Union Ministry is in charge of creating Eco-Parks on reclaimed land and promoting mine tourism?

a. Mines Ministry

b. Steel Ministry

¢. Power Ministry



d. Coal Ministry

Answer. d

6. What organisation published a disaster management plan for the power sector?

a. REC (Rural Electrification Corporation)

b. PFC (Power Finance Corporation)

¢. CEA (The Central Electricity Authority)

d. CERC (Central Electricity Regulatory Commission)

Answer. ¢

7. What is the rank of India in the ‘Global Innovation Index 2023°?

a. 60
b. 50
c. 40
d. 30

Answer. ¢

8. What is projected India's GDP growth this fiscal year, according to a recent prediction by the Asian Development Bank?

a.7.10%
b. 6.30%
¢. 5.60%
d. 8.90%

Answer. b

9. Which state launched ‘Mobile Van Program’ to boost Natural Farming?

a. Odisha

b. Arunachal Pradesh
¢. Himachal Pradesh
d. Rajasthan

Answer. ¢

10. Which country launched the ‘Hwasong-17" or the Monster missile?

a. North Korea
b. China
c. Israel
d. Japan

Answer. a

11. Which country celebrated the official launch of its first liquefied natural gas terminal?



a. [taly

b. Spain

¢. England
d. Germany

Answer. d

12. Which nation has joined the NATO security alliance as its thirty-first member?

a. Denmark

b. Norway

c. The Netherlands
d. Finland

Answer. d

13. Which of the following women represented India at the second Round Table Conference in relation to the Indian Freedom Struggle?

a. Sucheta Hriplani

b. Aruna Asaf Ali

c. Vijayalakshmi Pandit
d. Sarojini Naidu

Answer. d

14. Who was India's Viceroy at the time of the Jallianwala Bagh Massacre?

a. Lord Irwin

b. Lord Chelmsford
¢. Lord Hardinge

d. Lord Curzon

Answer. b

15. The first movement started against the British in India was :

a. Non-Cooperation Movement
b. Swadeshi Movement

¢. Quit India Movement

d. Khilafat Movement

Answer. b

16. Who founded India's first women's university?

a. Dhondo Keshave Karve

b. Rani Ahilya Devi

¢. J.C. Kumarappa



d. Mahatma Gandhi

Answer. a

17. The name of the prominent Indian who returned the knighthood conferred upon him by the British Government in 1919 as a symbol of protest against
the crimes in Punjab was:

a. Syed Ahmed Khan

b. Ashutosh Mukherjee
c. Rabindra Nath Tagore
d. Tej Bahadur Sapru

Answer. ¢

18. Who was known as the 'Father of Indian Unrest' by British rulers?

a. M. K. Gandhi

b. Subhash Chandra Bose
¢. Bal Gangadhar Tilak

d. Gopal Krishna Gokhale

Answer. ¢

19. Which of the following was elected as the President of the Central Legislative Assembly in March 1925?

a. Madan Mohan Malaviya
b. CR Das

c. Vithalbhai Patel

d. Motilal Nehru

Answer. ¢

20. Who was the first woman President of the Indian National Congress :

a. Annie Besant

b. Kasturba Gandhi

¢. Sarojini Naidu

d. Vijayalakshmi Pandit

Answer. a

21. Subhash Chandra Bose beat who during his re-election as President of the INC at the Tripuri Session in 1939?

a. J.B Kriplani

b. Pattabhi Sitaramaiyya
¢. Rajendra Prasad

d. Abul Kalam Azad

Answer. b

22. In which year did Revolutionary Udham Singh avenged the Jallianwala Bagh murder by assassinating Michael Francis O'Dwyer?



a. 1942
b. 1940
c. 1932
d. 1935

Answer. b

23. In which state Mahatma Gandhi was born?

a. Rajasthan

b. Madhya Pradesh
c. Gujarat

d. Assam

Answer. ¢

24. Who founded the Swatantra Party?

a. Bal Gangadhar Tilak

b. Gopal Krishna Gokhale
¢. Dadabhai Naoroji

d. C. Rajagopalachari

Answer. d

25. Which Indian city processes 90% of the world's tiny diamonds?

a. Mumbai
b. Surat

¢. Kanpur
d. Bhopal

Answer. b

26. Which of the following is Andaman and Nicobar Islands' highest peak?

a. Mount Thuiller
b. Mount Koyale
¢. Mount Diavolo
d. Saddle Peak

Answer. d

27. Which of the following Indian river valleys was formed as a result of intense gully erosion?

a. Chambal

b. Brahmaputra

¢. Damodar



d. Ganga

Answer. a

28. Which of the following states is home to the Gurudongmar Lake, which bears the name of the Guru Padmasambhava?

a. Uttarakhand
b. Sikkim

¢. Tripura

d. Meghalaya

Answer. b

29. In which year following independence did India conduct its first census?

a. 1967
b. 1987
c. 1954
d. 1951

Answer. d

30. Which is the longest river in South India?

a. Godavari

b. Tungabhadra
¢. Narmada

d. Krishna

Answer. a

31. Which of the following geographical words best depicts a body of land surrounded by water on three sides?

a. Peninsula
b. Gulf

¢. Strait

d. Island

Answer. a

32. Which of the following passes crosses the Pir Panjal range and connects Manali and Leh by road?

a. Mana Pass

b. Niti Pass

¢. Nathula Pass
d. Rohtang Pass

Answer. d

33. Kalgoorlie and Coolgardie, both gold mining towns, are situated in:



a. India

b. Australia

¢. South Africa
d. New Zeland

Answer. b

34. Who was the first to put forward the convectional current theory in geography?

a. Carl Ritter

b. Arnaldo Faustini
¢. Arthur Holmes
d. Immanuel Kant

Answer. ¢

35. In which state Saffron is exclusively produced?

a. Jammu and Kashmir
b. Madhya Pradesh

c. Sikkhim

d. Maharashtra

Answer. a

36. The headquarters of the International Astronomical Union (IAU) is situated in:

a. Geneva

b. Paris

¢. Mexico City
d. New York

Answer. b

37. What is the minimum age specified by the Indian Constitution for a candidate to be elected as India's Vice President?

a.21
b. 25
¢. 35
d. 45

Answer. ¢

38. In which year did Sikkim join the North Eastern Council?

a. 1992

b. 1996

¢. 2000



d. 2002

Answer. d

39. Which of the following Constitutional articles has the provision for a Finance Commission to resolve the revenue-sharing arrangement between the
states and the Centre?

a. Article 260
b. Article 265
c. Article 270
d. Article 280

Answer. d

40. Who appoints the chairman of UPSC?

a. President

b. Prime Minister
¢. Parliament

d. Cabinet

Answer. a

41. How many sections are there in the Environment Protection Act of 1986?

a. 25

Answer. b

42. Which of the following rights was restricted by the Preventive Detention Act?

a. Right to Equality
b. Right to Freedom
c. Right to Property
d. Education Right

Answer. b

43. Which Article of the Indian Constitution contains certain provisions with regard to the state of Maharashtra?

a. Article 370
b. Article 371
c. Article 372
d. Article 373

Answer. b

44, Which Schedule of the Indian Constitution lists India's states and union territories?



a. First Schedule
b. Second Schedule
¢. Third Schedule
d. Fourth Schedule

Answer. a

45. How many tiers are there in the Indian Panchayati Raj system?

a. One-tier
b. Two-tier
¢. Three-tier
d. Four-tier

Answer. ¢

46. How many positions in the Panchayati Raj system have been reserved for women at all levels?

a. 1/3rd
b. 1/4th
c. 1/5th
d. 1/6th

Answer. a

47. Which of the article deals with the grants aided by the Union government to the states?

a. Article 275
b. Article 280
c. Article 285
d. Article 290

Answer. a

48. Which of the following articles deals with the election of the Vice-president?

a. Article 62
b. Article 64
c. Article 66
d. Article 68

Answer. ¢

49. In which year did the UN General Assembly establish the Commission on Sustainable Development (CSD)?

a. 1990
b. 1988

c. 1992



d. 1995

Answer. ¢

50. Social, economic and ecological equity are the necessary requirements for achieving

a. Social development

b. Economical development
¢. Sustainable development
d. Ecological development

Answer. ¢

51. The maximum number of people that a certain environment can sustain is referred to as

a. Carrying capacity

b. Environmental resistance
c. Population size

d. Biotic potential

Answer. a

52. Mineral and metal extraction from the earth is called:

a. Transportation

b. Agriculture

¢. Mining

d. Sustainable development

Answer. ¢

53. The full form of MPCE is:

a. Minimum per capita expenditure
b. Monthly per capita expenditure
¢. Maximum per capita expenditure
d. None of these

Answer. b

54. In which year did India's National Food for Work Programme start?

a. 2007
b. 2004
¢. 2010
d. 2009

Answer. b

55. The United Nations has established a total of how many Sustainable Development Goals (SDGs)?



Answer. a

56. The Un-Conference for Environmental Sustainability is often recognized by the United Nations World Summit was held on-

a. Rio de Janeiro, 2010
b. Rio de Janeiro, 2011
¢. Rio de Janeiro, 2012
d. Rio de Janeiro, 2013

Answer. ¢

57. The theme of Financial Literary Week 2022 is:

a. Credit Discipline and Credit from Formal Institutions
b. Go Digital, Go Secure

¢. Micro, Small and Medium Enterprises

d. None of these

Answer. b

58. Which ministry is responsible for the report on India’s national and per capita income?

a. Ministry of Home Affairs

b. Ministry of Planning

¢. Ministry of Human Resource Development

d. Ministry of Statistics and Programme Implementation

Answer. d

59. ASEAN stands for:

a. Association of South East Agro Nations.
b. Alliance of South East Asian Neighbors.
¢. Association of South East Asian Nations.
d. Alliance of South Eastern African Nations

Answer. ¢

60. Income inequalities are often shown on a

a. Production possibility curve

b. Sen curve

¢. Marginal inequality curve



d. Lorenz curve

Answer. d

61. What is the reproductive part of a flowering plant?

a. Stamen
b. Pistil
¢. Anther
d. Pollen

Answer. a

62. What is the process by which plants grow towards a light source?

a. Geotropism

b. Hydrotropism
¢. Thigmotropism
d. Phototropism

Answer. d

63. Which phylum do insects belong to?

a. Mollusca
b. Chordata
¢. Annelida
d. Arthropoda

Answer. d

64. Which organ is responsible for producing insulin in humans?

a. Lungs
b. Liver
c. Kidneys
d. Pancreas

Answer. d

65. What is the process to maintain a relatively stable internal environment?

a. Adaptation
b. Evolution

¢. Metabolism
d. Homeostasis

Answer. d

66. What is the term for the process of eliminating all forms of microbial life?



a. Disinfection
b. Sanitization
¢. Decontamination
d. Sterilization

Answer. d

67. What is the recommended way to cover your mouth and nose when coughing or sneezing?

a. Use your hands

b. Don't cover your mouth and nose
c. Use a mask only

d. Use a tissue

Answer. d

68. What is the recommended method to properly clean and sanitize hands when soap and water are not available?

a. Use a hairdryer

b. Rinse hands with water only

c. Rub hands with a cloth

d. Use hand sanitizer with at least 60% alcohol

Answer. d

69. What is the chemical symbol for potassium?

a. Ko
b. Ka
c.P
d.K

Answer. d

70. Which animal among these is known for its ability to change color?

a. Dolphin

b. Eagle

c. Cheetah

d. Chameleon

Answer. d

71. What is the phenomenon in quantum mechanics where particles can be in multiple states or locations at once called?

a. Wave-particle Duality

b. Quantum Tunneling

¢. Entanglement



d. Superposition

Answer. d

72. Which among these metal is stored under oil to prevent from reacting?

a. Argon

b. Aluminium
¢. Copper

d. Potassium

Answer. d

73. Which phylum includes organisms with radial symmetry and stinging cells?

a. Platyhelminthes
b. Echinodermata
¢. Mollusca
d. Cnidaria

Answer. d

74. What is the value of: 80% OF 1880

a. 1504
b. 1204
c. 1304
d. 1860

Answer. a

75.x =130y = 85 (X+Y+Z) /2 =330 What is the value of the largest number?

a. 130
b. 775
c. 675
d. 875

Answer. *bouns*

76. The average speed of a bus is 110 miles per hour. The total time is 8 hours, Find the distance

a. 790
b. 840
¢c. 880
d. 820

Answer. ¢

77. Find the area of an equilateral triangle, if side = 10cm



a.43.3 cm™2
b. 42.8 cm"2
c.41.4 cm”2
d. 39.8 cm”2

Answer. a

78. Find the missing number in the following series X+3*2-5+8*16=0

Answer. a

79. What percent of 5 is 11?

a.220
b. 110
¢. 250
d. 80

Answer. a

80. The daily wage of a worker is ¥1100. What will be his earning for a week?

a. 7700
b. 7650
c. 7780
d. 7750

Answer. a

81. Find the value of y: 5x+12y=20 20x+6y=20

a.10/7.0
b. 4/7.0
¢. 5/4.0
d. 12/7.0

Answer. a

82.12-4+11x3+6=7



d. 6

Answer. *bouns*

83. What is the square root of (133-1+35+2)

a. 13

Answer. a

84. LCM of 36 and 45

a. 170
b. 160
c. 180
d. 150

Answer. ¢

85. HCF OF 16 and 24

a. 12
b. 6
c.8
d.3

Answer. ¢

86. The price of 10 chairs and 2 tables is 800 rupees. The price of one table is 100. What is the price of one chair?
a. 60
b. 50
c. 80

d. 90

Answer. a

87. at+b=3 a"2-b"2=9 a-b=?

a.3

d. 4

Answer. a

88. Economic growth can be measured by



a. CPI
b. GDP
c. CBI
d. MPC

Answer. b

89. According to W.W. Rostow, there are how many stages of economic growth:

a. Two
b. Five
c. Six
d. Three

Answer. b

90. The full form of OPEC is

a. Organization of Problematic Economies Committee.
b. Oil Producing Economies Caucus.

¢. Organization of Pre- European Commission.

d. Organization of Petroleum Exporting Country.

Answer. d

91. The 'big-push' development strategy was first proposed by:

a. Simon Kuznets

b. Paul N-Rosenstein-Rodan
c. WA Lewis

d. A.O.Hirshman

Answer. b

92. If Kamal says Ravi's mother is the only daughter of my mother How is Kamal related to Ravi?

a. Maternal uncle
b. Brother

c. Father

d. Data inadequate

Answer. a

93. Ravi is 7 ranks ahead of Sumit in a class of 39 if Sumit's rank is 17th from the last. What is Ravi's rank from the start?

a. 14th

b. 15th

c. 16th



d. 17th

Answer. ¢

94.51473985726315863852243496How many odd numbers are there which are immediately followed by odd number?

a. More than 4
b.2
c. 4
d.3

Answer. a

95. Find the missing number.

a. 11
b. 9
c.7
d.5

Answer. a

96. How many 6 will you encounter between 1 to 70?

a. 17
b. 18
c. 19
d. 20

Answer. a

97. If Ram weighs 120 KG on earth. What will be his weight on moon?

a. 20N
b. 180N
c. 240N
d. 40N

Answer. a

98. A, B, D, G, K. Which letter comes next in the sequence?

a.P

b.K

c. N



d.O

Answer. a

99. Palindrome is a word which reads same as forward as forwards. "Senile Felines" is a palindrome?

a. True
b. False

Answer. b

100. 5,000,000 nanometers (nm) is to 5 millimeters (mm) as 45,000,000 nm is to?

a.0.45
b. 0.045
¢. 450
d. 45

Answer. d
Test Question Language:- HINDI

1. DU TR AR A fIHM srgard 2023° USRI Hal?

a, SIRUB

b. STITATH
c. it smam
d. qERfidies!

Answer. d

2. PV I IR AR IAHEH AIORUAN TR Bl 31R?

a. T3 I e
b. Rl I= grare™m
¢. §§8 I IRe
d. G I AT

Answer. a

3. YRR o Ay € a7 dggg A S e et e fefSereiee % gE &at (DCDH)?

a. Sffg TR
b. shfg=m

. IW W
d. 79 W

Answer. b

4. IRRMd Safdggd Ubedrars! gd Jaraull Jureh RITA FRUARITE HIET TS Feld FHol HAaRl IR Her?



a. SteMReTel
b. s

c. deega
d. TIuue

Answer. a

5. P $eIg AT T §ab HTeed] SR IHI-Ulh qUR BT 11 W0 Teferel aieHT S04 B Ha?

a. T HA
b. UrdTe Haed
c. Sl e

d. Hioar T

Answer. d

6. DU TR A SRS SR TG TISHT THIRIG Heit?

a. REC (wrfior faggdieur memiss)
b. PFC (UleR WA HIURT)

c. CEA (¥ia fagga miftreon)

d. CERC (¥t fagga Frams s

Answer. ¢

7. “TiSe SR $39 2023 H YR hHiB BE 3MR?

Answer. ¢

8. TR Igaude P JHAE Hael HSSER a7 e aufd YRar e adian siee s eig?

a.7.10%
b. 6.30%
¢. 5.60%
d. 8.90%

Answer. b

9. PV ITH GG e A JUANIST “HIGRT T BRIGH Y& Hal?

a. hfg=m
b. SREUTET USR

c. feamaa wer



d. ISR

Answer. ¢

10. HIvrAT M 'Hwasong-17' fbal AiRex &UUIRA Wafud &a?

a. FW B
b. 9

¢. 3T

d. Sa

Answer. a

11. PO VM AT Ufged Gdyd Jfife o cfifay siftied wauor R Ha?

a. gedl
b. T
c. s
d. S

Answer. d

12. F10d AF NATO TR& MO THaHd Jed WUH AHid el 3iTg?

a. 3|6

b. AF

¢. Fexeigw
d. frefs

Answer. d

13. YRANT WIHTear= GaeM go=aT Mo TRy JATelieie! Hiudm Afea- YRae ufaffia Fa?

a. gIal HUAr

b. SREUT 3 H 3t
c. fasamaed dfsa
d. RS TrIg

Answer. d

14. STRMEATeT 1 gAdiSTel I8! HRAR RISERIT I ga?

a, TS amafda
b. TE ITTHIS
c. A€ gfdn
d. arE R

Answer. b

15. yRaWe fafexifdrs I e ufed! 9@de BUN:



a. H-UghR dddad
b. W= IBam
c. BIE! YRd TBID

d. feqawa dwas

Answer. b

16. YR ufee Afgan fayfamdis ol wig= e

a. tie) T HJ
b. 307 sifeer I
¢. O, . FERTT

d. wgren e

Answer. a

17. &1 YgQ@ YRAOR 19 S1 §d W deremdia Tiar Ay muE 1919 98 ey WRSRA @1 §gTd Hoen AIgege fhae wa

a. T3¢ fgHC M

b. YA it
c. Mdg Y TR

d. I9 FEIgR IY

Answer. ¢

18. ey ToumEigR "R Sidde SHe' BUH HIUNel 3eEd §d 38?

a. T, &, Meh

b. YN % SN
c. 91 TR s
d. i@ Fwr TRad

Answer. ¢

19. Treieist PO A 19259 Heaad! s sreger WU fas gel?

a. He Higd Hedy
b. ¥ 3R ™

C. IEIUHTE e
d. Hidfiema g

Answer. ¢

20. YRAT AP HRRTT UfgedT A SHeHeT HIvr gie:

a. & 95ic
b. HERET e



¢. WIfoFT TG
d. fasaraedt dfsa

Answer. a

21. 1939 7ei Bigd MfUawF INC 9 Siefe WM Gl FagH 3ifcled] YUITeEs S It Ui W1 Ha?

a. 9. . puarE

b. Tt RydRrar
c. IolE TEIg

d. 3fegT HAH AT

Answer. b

22. wifddRe Iy9 R it Hoan I Aaed Wi HSaRR il g1 B SiferHare a1 gaThismEl saal daar?

a. 1942
b. 1940
c. 1932
d. 1935

Answer. b

23. Tgre Tidiar S Siorn s irel?

a, ISR
b. 7 TE
¢. TORTd
d. ™M

Answer. ¢

24. WA gy RGAT Hioft FHe?

. 91 TR fewss
b. MUl HOT MEd
¢. FrErHig RIS

d. T rirerER)

Answer. d

25, HIUAT URAT RS T 90% ger fo=aiar uferar deit Jma?

a. G
b. g
¢ PER
d. e

Answer. b



26. TIEAID!T PG fHH 3 FBlaR Jeiadd wafd 39 R/ em?

a, AT PR
b. AdE HIAA
c. Tde feama
d. 959 ReR

Answer. d

27. TIEAU®! BT T TR A e U goarr R BUF 9aR e

a, gqq
b. SR
c. TR
d. T

Answer. a

28. Wellaie! HIUAT I RESHAR TWIGR TR, SOTdl R TEHHa 19 Isd 3Me?

a. WS

b. Rt

c. Bigur
d. Arer

Answer. b

29, WIAHR B ¥l YRAW 3Mel ufgel SHoFT Sefl?

a. 1967
b. 1987
c. 1954
d. 1951

Answer. d

30. &féor YRarda wafa @i < HoRd g2

a. Meas
b. g
c. T
d. pwn

Answer. a

31. TIEaUS! B WE Weg diF I UIUEH Jededl YT Fatad guiH FHRaN?

a. Uf e

b. smard



c. gyt
d. e

Answer. a

32. Wrellate! B [ ¥R Uil TdariT UR 6Ra 3Mfdr Tl @ dgel /aM Sisa?

a. qH &S
b. At s
c. Tyar s
d. Jgdn s

Answer. d

33. He[El AT HErTISY, gt T Wi TeR, AN T g

a. URd
b. sirefem
c. Gf&rT 3ihept
d. gfRrds

Answer. b

34. ierdta Yag aduH gl AisuR g For g

a. 1 R
b. sAfET Bk
c. 3R g
d. SHgua &

Answer. ¢

35. DU I THAGUO HIRTY I I SAd?

a. SR 3101 PIRER
b. 7 e

c. fyai

d. HERTY

Answer. a

36. SexRMT SeHtma gae (IAU) Gemed 39 org:

a. fomar
b. UR¥
c. Affgd! TR
d. =g

Answer. b



37. YR TsqacgR Muiid SR YRAR IWPUd BUF Hasen S SAGaRE fFUH 9 S R?

a. 21

Answer. ¢

38. wivren aff Rifdes S gdl aRwemsd weurft ema?

a.1992
b. 1996
¢. 2000
d. 2002

Answer. d

39. AT BT TeAIHd ST I AT Fg AT Heqy IeUl aw Tequariedt fad SR TRg me?

a. 3g=e 260
b. =T 265
c. 3= 270
d. 3rT=g 280

Answer. d

40. UPSC=a1 sfengiel fgactt 101 Hd?
a. gt

b. dauy™

¢. 99

d. Tds®

Answer. a

41. 198601 TUiaRUT TREUT HEEML fhdl el 3mRa?

a.25

Answer. b

42, WAl BT SHRBRIR UfdeudHD 3fch HEaR §dl grdal gd?

a. I ISR

b. WAl ABR



¢. AT HRIBR
d. Rigomar SfieR

Answer. b

43, YRU ITGCHAT ST ST HERIY AR Fald $rel ARy Wl Ty sga?

a. 3g=e 370
b. 3¢ 371
c. 3g®e 372
d. sig=se 373

Answer. b

44, YRA IAsqUC PN STEHE HRAE 5T T So=niyd e Al 3me?

a. Ufgell STt
b. g8 st
c. faedt erggEh
d. et S

Answer. a

45, YR YA I vonamed) fed wR smea?

a. Uh-TR
b. TF-TR
c. TH-TR
d. IR-TR

Answer. ¢

46. Tarrdt IS yumelHe fhdt Ug 9d Wik Aftawst IRda ega?

a.3/1
b. 4/1
c. 5/1
d. 6/1

Answer. a

47. TIETUD! HIET ITwe H% WPRA AT e Hed=it G amg?

a. 3¢ 275
b. 3iF=5¢ 280
c. 3fJ=q 285
d. 3= 290

Answer. a



48. WrelAt®! HIUET Siwde IRIPUdt FHasusih et sm?

a. 3F®S 62
b. FT®e 64
¢. TG 66
d. =g 68

Answer. ¢

49. UN 9MI 997 S0 auf ed fasm Sl ®IgeT1 et (CSD)?

a.1990
b. 1988
c. 1992
d. 1995

Answer. ¢

50. % "I UGSt e, anffer onfr yafarofty wamar ar snaxge RS 3Rd

a. e faw
b. o faewrg
c. Iyd fasra
d. TRl e

Answer. ¢

51. T IRy wofeng Re weum=a diern saa e omm dey fear s

a. 95 &
b. TR AER
c. TpEed HRAA
d. Sfa® e

Answer. a

52, edinyd @S ST eTq Prevara fhaar o Ted o

a. 98P
b. it

C. TIU[hH

d. Iya fasg

Answer. ¢

53. MPCE 3 U &Y UM

a. {5y R €8 =d
b. TRF &R ¥ T



. PAT X 1% T
d. Tt HivRE g

Answer. b

54, U af YRATET ST e 3 HRIHH TE Far?

a. 2007
b. 2004
¢. 2010
d. 2009

Answer. b

55. TG P YU THU e wyd e IRP (SDG) R Fedt Ra?

Answer. a

56. TATGRUTE XMyqaTdt Sga IT-UREGe dgeT Sgad Ipre RreR uRuigR waar fadt S ot ar aff emifea el Aeh-

a. st t SAfvai, 2010
b. Raft S sARaf, 2011
c. st S SARkad, 2012
d. e € SARal, 2013

Answer. ¢

57. o Trerar sMeast 2022% 4iH U

a. e R o shaiike GeiimgT Hiee
b. fefSred =1 WRidra =1

c. G&Hq, g 3nfor Hegy 3T

d. AT POE TG

Answer. b

58. BV TAGT YRATS ET A0 cReTs STAAV Sgarac™e! JaeaR 3g?

2. 7g T
b. FieH e

c. HFd I far HAed

d. STt 3ftr SRl SreesTau HEmed

Answer. d



59. ASEAN = 37ef:

a. IEIRITRA i Wy S T Az,
b. A 3 WHY ¢ R Ao
c. SRR o Wy S TReE A3
d. A ST WY S¥e SMffped AR

Answer. ¢

60. ITF AT SgT AN cRiqedr Srard

a, IATGT U dsh
b. ¥ T

c. YA SRHMAT Ih
d. 9 T

Answer. d

61. BT YU FARUAET JReIGd YR B0l Sal?

a, @A
b. fifea
c. =R

d. 9

Answer. a

62. I UHTR TIare AR aredid o1 Ufhder S guEra?

Answer. d

63. Plcd BT BIAAL et SMea?

a. HieqEPT
b. Hrsfer
c. Ffere
d. smifarsT

Answer. d

64. THAME sgfe AT IRUARITE HIUT aTd FEEER 3R?

a. pUpd
b. g



c. A
d. wigts

Answer. d

65. FIURAT UfHAgR T TR0 goA fRR @A w2

a. Spa
b. Iabid!
C. YAy
d. Siffeieia

Answer. d

66. T4 YHRY YEAGNT Y HRUIRAT UhAT B TgUrAra?

a. Fefgiav
IIECRERE]
c. FEHR

d. RRreIEH

Answer. d

67. Qiwdr fhar Ridwar gaa dis onfd 916 e duarar RGRY Forem Anf Horr omg?

a. T BT AT

b. g dis o1 16 M AHT
c. B TF ARG ORI

d. foxg amRy

Answer. d

68. Traur fdr Uil Iuds TG dRT B A USR A1H ST e HRugMEt RIPRY Fad Ugd SR 3e?

2. BIRGRR ATRI

b. e UTOA B YaT

¢. HUSI B1d 9

d. FPHM 60% 3epTeial SRIeIe B8 YHCRISR aTaRT

Answer. d

69. TIERrmS INEE o w1 emg?

a. Ko
b. Ka
c.P
d.K

Answer. d



70. AT Hivrar ot AreT T SeauareT STl SieEdl Sdl?

a. Sifcp
b. =8
c. fert
d. §8T1

Answer. d

71. ®icH AoHeaad =i I geAl 3e Y S0 THE 9t sHe ERImY a1 3wl sfy wHaa?

a. dg-Uféewa sgaiferct
b. BI<H AT

c. Jarjd

d. gRURRA

Answer. d

72. I HIUT o1q, Uffhar Svar Uiy SRR dARaTe! ASaar Sdr?

a. R

b. tegfifram
c. did

d. gy

Answer. d

73. Do frammed Yeaa Tafiyd onftr Sraom=n U= SriAd Sid HIAY 3R

a. WA
b. TlbAsHier
c. FIgEhT
d. e

Answer. d

74. 1880%1 80% < Hed B 3N

a. 1504
b. 1204
c. 1304
d. 1860

Answer. a

75.x = 130 y = 85 (X+Y+Z) /2 = 330 Fdfd Hiear T I S 3?7

a. 130

b. 775



¢. 675
d. 875

Answer. *bouns*

76. THT SE WA I A=A 110 79 3R, TPV I 8 TN oI, R SR TNl

a. 790
b. 840
c. 880
d. 820

Answer. ¢

77. GOYS DGR &ahe MYl SR &l = 1094

a.43.3 cm™2
b. 42.8 cm”2
c.41.4 cm”2
d. 39.8 cm”2

Answer. a

78. @A AfHAYT el Wl JMem X+3*2-5+8%16=0

a. 4
b.3
c.2
d.-3

Answer. a

79. 59 fordl Tap wUS 117

a.220
b. 110
¢. 250
d. 80

Answer. a

80. THT TR I I 1100 3. THT MGTSId AT HATS fobell SRAT?

a. 7700
b. 7650
¢. 7780
d. 7750

Answer. a



81. yd g JMem: Sx+12y=20 20x+6y=20

a.10/7.0
b. 4/7.0
¢. 5/4.0
d. 12/7.0

Answer. a

82.12-4+11x3+6="?

d. 6

Answer. *bouns*

83. Weid WY o go =Mem (133-1435+2)

a. 13

Answer. a

84. 36 3M1f0r 4531 LCM

a. 170
b. 160
c. 180
d. 150

Answer. ¢

85. 16 37for 2491 HCF

a. 12
b.6
c.8
d.3

Answer. ¢

86. 10 =gt onfir 2 aard fhmd 800 T R, ThT 2qam fbHa 100 . 3. @R THT G fbra $a 3me?

a. 60



c. 80
d. 90

Answer. a

87. a+b=3 a"2-b"2=9 a-b=?

a.3
b. -3
c.6
d. 4

Answer. a

88. onffer are ATgR Hiweh WS Wehd

a. Tidemy
b. STt
c. didtemy
d. Trdih

Answer. b

89. S5, S, IWIT IR, e ardlen fordt urg= amea:

a.3d
b. Ut
¢. 9gl
d.d=

Answer. b

90. OPEC ¥ qif ¥4 wurt

a. TARIR Sifera Gt doe.

b. ST MegRi sHAH Pied

c. SiffTEeRA off Wi Hfiee

d. SR o Agifm TedfET $d

Answer. d

91. forr-uxr' faer «Ror wdwm T yRarfad

a. IFA ST

b. U T-IRA-IET
¢. $<7. T. afqw

d. T 3. gfme

Answer. b



92. HHTA YA NS AT IS Upad! Ub Horll 38 3R Wed a} HHadl M Ty Har?

a. AT
b. 1%
c. &
d. 3e1 gy

Answer. a

93. 3dt 39 = i GHAUET 7 3F Ye o SR YAdar ¥& Aacd HHIGERA 17 a1 ¥, WA GeariuRd ¥& s/ 3me?

a. 14at
b. 15d
c. 16t
d. 174t

Answer. ¢

94.5147398572631586385224 3496 320 fabrcl faww Tam simed w1 o faww SR dara?

a. Ua o4 4
b.2
c. 4
d.3

Answer. a

8|7
3113
10(14| 1

95, g i M.

a. 11
b.9
c.7
d.5

Answer. a

96. 17 70 A grTen el 6 Wediar?

Answer. a



97. SR IH YR 120 fo5 3. 3118 FsTeR ral o fabelt orier?

2.20Tq
b. 180T
¢. 24084

d. 40T

Answer. a

98. A, B, D, G, K. UM Jg HIUd 31&R Jq?

a.P
b.K
c¢. N
d.O

Answer. a

99. UfIgIH 81 U Tt 38 Wil Y& URETd arad!. "4fd tferar g g sie?

a TR

b. @

Answer. b

100. 5,000,000 TSR (TATH) U 5 fAeiiex () UM 45,000,000 TITH 2

a.0.45

b. 0.045

c. 450

d. 45

Answer. d

Test Answer

1. (d) 2. (a) 3.(b) 4. (a) 5.(d) 6. (c) 7. (c) 8. (b) 9.(c) 10. (a)
11. (d) 12. (d) 13. (d) 14. (b) 15. (b) 16. (a) 17. (¢) 18. (c) 19. (c) 20. (a)
21. (b) 22. (b) 23. (c) 24. (d) 25. (b) 26. (d) 27. (a) 28. (b) 29. (d) 30. (a)
31. (a) 32.(d) 33.(b) 34. (c) 35. (a) 36. (b) 37.(c) 38. (d) 39. (d) 40. (a)
41. (b) 42. (b) 43. (b) 4. (a) 45.(c) 46. (a) 47. (a) 48. (c) 49. (c) 50. (c)
51. (a) 52.(c) 53. (b) 54. (b) 55. (a) 56. (c) 57. (b) 58. (d) 59. (c) 60. (d)
61. (a) 62. (d) 63.(d) 64. (d) 65. (d) 66. (d) 67. (d) 68. (d) 69. (d) 70. (d)

1. (d) 72.(d) 73. (d) 74. (a) 75. (*bouns*)  76. (c) 77. (a) 78. (a) 79. (a) 80. (2)



81. (a) 82. (*bouns*) 83.(a) 84. (¢) 85. (c) 86. (a) 87. (a) 88. (b) 89. (b) 90. (d)
91. (b) 92. (a) 93. (c) 94. (a) 95. (a) 96. (a) 97. (a) 98. (a) 99. (b) 100. (d)



